Montazni navod

(Montéazny navod, Fitting instruction, Montageanleitumg,

Instruzioni di montaggio, Monteringshandledning,
Asennusohje, Instruction de montage,
Montegehandleiding, WHcTpyKuua no yctaHoBKe)

":

®
ol

Tazné zarizeni
Kia Sportage 07/2018->12/2021

Tazné zariadenie
Towbars
Trekhaak

Anhangerkupplung de
Dispositif d'attelage
Equipo de remolque

Sprzet holowniczy

Hinauslaitteet
BykcupHoe obopynoBaHue

vyrobce / dodavatel

SVC Group s.r.o.

[=] 3

Odkaz na produkt:
https://www.svcgroup.cz/tazne-zarizeni-sro
uby-pevny-skoda-rapid-monte-carlo-10-20
12-2018-p7283-v960

WWW.SVCgroup.cz



l 25 let
TV T
S/ ANA ZARIZg S

/T

GROUP
ORIGINAV

<P

<

WWW.SvVCgroup.cz

07/2018 -
=1(8/2018 -

SVC GROUP ©-4014

w32

TYP VTZ001-470

VTZ002-470
VTZ003-470

Prdmyslové zona 179

=~SVCGROUP, s.r.0. 54701 Nachod

Ceskd Republika

HYUNDAI TUCSON
KiA SPORTAGE

_AWD/4WD 4 _ FWD

e-mail: scv@scvgroup.cz Tel:+420 491421021 +420 491421022 mob.: +420 603360607




HYUNDAITUCSON J07/2018 -

KIA SPORTAGE =1 08/2018 -

. VT20A/600/A.7000 ‘ &2 VTZ 1.001-470

Hyundai Tuéson % VTZ 1.002-470

Hyundai Tucson

\W @ VTZ 1.003-470
M12x35 G10.9

SROUB /.BOLT
M12x35 G10.9

NSTITEK / LABEL SVC
Approval Number  Class

[Exx[00-x0¢x
Type [ ] D-Value D[ JkN
Series ] Vertid S[TJN

Q*\
< ‘

| ECC———

A X1

B %1 M12x35 4ks

G X1 @12 4ks
X1 > @12 4ks

[ 2250/110 D=11,03

SVC GROUP ©-4014

SVC GROUP S.1.0. gy Nt eviwsvegroup-cz  hidgs 1o

547 01 Nachod-CR  e-mail: svc@svegroup.cz mob.: +420 603350607




HYUNDAITUCSON J07/2018 -

KIA SPORTAGE -1 08/2018 -

. VT20A/600/A.7000 '

&2 & VIZ 001-470
.9 VT 002-470

@ VTZ 003-470

SROUB / BOLT M8x25

KIA SPORTAGE : POUZE KIA SPORTAGE
%
SROUB / BOLT

M12x35 G10.9 ‘ KIA SPORTAGE

=90 /
{ \2
‘ﬁROUB / BOLT
M12x35 G10.9

STITEK / LABEL SVC

Approval Number Class
A X1
Type [ | D-Value D[__]kN
Series ] Vertid S[_JkN
B X1
M12x35 4ks
& X1 M8x25 4ks
@12 4ks
X1 o8 %Ks
@12 4ks

@8 2ks

S
% @12 2ks

[ 2250/110 D=11,03

SVC GROUP ©-4014

+420 491421022

Pramyslova zéna - 179 : . Tel.:+420 491421021
SVC GROUP s.r.o. y WWW.SVCgroup.cz

547 01 Nachod-CR  e-mail: svc@svegroup.cz o +420 603350607



HYUNDAITUCSON ?07/2018 \

KIA SPORTAGE £=108/2018 -

S8 VIZ001-470 175) A
B V120024700 [(185) B e
R vizasd7o (M7 & 1.5h

g 07/2018 -5 [ 110 ] {zzso] D= | 11,03
08/2018"->

Homologace - registracni certifikdt

gf@ E27-55R-01-0378
&

IS =/

EHC R-55 @3 J—’%D

ES 94/20
Y

(@ Informace k provozu / homologaci

@ Informdcie na prevadzku / homologdciu

@ Operating / homologation information
@ Betriebs- / Zulassungsinformationen

@ Uzemeltetési / homologaciés informaciok

@ Informations d'exploitation / homologation
G Informazioni sull'operazione / omologazione
M6 97 13 161 N\ kﬂ @ Monteringsanvisningar

M8 U5 355 10 @3 @ Instrucciones de montje

M10 44 no 80 ”/:;‘\% ) @ Montage-instructie

M2 840 1230 1440 o S '
A hjeet
M4 1330 190 2290 @ @ Asennusohjee

M16 1370 N B35
@ Informacje dotyczace pracy / homologacji

o — ||
® % @ Nm @ Hdopmauma o pabore /omonoraLum

SVC GROUP ©-4014

Pevnost 88 109 129 A —=

@ Drifts- / homologasjonsinformasjon

Primyslova zéna - 179 www.svegroup.cz ~ Tel:+420 49142102]
SVC GROUP s.1.0. " £47 01 Nachod.GR +420 491421022

e-mail: sve@svegroup.cz _moh.; +420 603360607




Homologace - registraéni certifikat

‘EU SVC GROUP s.r.0. EHK55/e-94/20 ElE—

LR

Asennusohje - Notice de montage - Sz. szerelési itmuutatd - Montagehandleiding - Monteringsanvisning - Insructioni de montaj -Teringsanvisningar - VIHCTpyKwum no MoHTaxy

A0]|

- [}

Gpey
E Classe A50-X

Volny prostor dle pfilohy VII, smérnice¢. EC 55-R EU musi byt dodrZen. @

E% Montdzni instrukce - MontaZny instrukcia - Installation insrtuktion - Montageanleitung - Istruzioni di montaggio - Instrukcja montazu - Manual de montaje Monteringsvejledning - Paigaldusjuhe nd -
"

Volny priestor podla prilohy VII, smérnice¢. EC 55-R EU musi byt dodrzany.

The clerarance specified in appendix VI, diagram 25 ofguideline EC r-55 EU must be guaranteed.

Der Freiraum nach Anhang VI, Abbildung 25 der Richtlinie EC R-55 EU ist zu gewdhrleisten.

Az EC55-R EU irdnyelv VII. mellékletében, a 25. abrén a vondgomb elhelyezése szmara elirt szabad tér-adatokat bizitositani ke

Lazone de dégagement doitément aannexe VII, illustration 25 de la directive EC 55-REU.

Deve essere garantito lo spazio libero secondo lallegato VII, figura 25 della direttiva EC 55-R EU. ;/ X Erfe
De tussenruimte conform supplement VI, afbeelding 25 van de richtlijn EC 55-R moet in acht worden genomen. A T 'E =
Debe garantizarse el espacio libre, conforme al anexo VI, figura 25 de la directiva comunitaria EC 55-R EU. ij 7 f -
Vapaa tila on taattava direktiivin EC 5-R EU liitteen VII, kuvan 25 mukaisesti. il E\;
<

Spelrummet enligt bilaga VI, Figur 25 i riktlinje EC55-R EU skall garanteras.
Friromment etter tillegg VI, figur 25 i direktiv EC55-R EU skal overholdes.

350—420

Nalezy zapewnic szczelnos¢ zgodnie z_rysunkiem nr 25 dyrektywy EC 55-R zawartej w zataczniku nr VII.

LWlapuka B npunoxenmn VII. Aupektusbl EC 55-R eu.

VOZOVKA

00000000060000

@ Pfi celkové pipustné hmotnosti vozidla @ Pri celkovej pfipustnej hmotnosti vozidla @ At laden weight ofthe vehicle T [ ‘> 49mm

@ Bei zuldssigem Gesamtgewicht des Fahrzeuges @ Rakomannyal terhelt jarmsuly eseltén @ Pour poids total en charge autorisé du véhicule

X

o Per un peso complessivo ammesso del veicolo @ Bij toelaatbaar totaal gewicht van het voertuig @ Con peso total autorizado del vehiculo @ Ajoneuvon suurimmalla sallitulla kokonaispainola
@ Vid fordonets tillltna totlvikt @ Ved kjoretayets tillatte totalvekt @ W przypadku najwikszej dozwolonej masy cakowitej @ B cnyyae HarpyxeHHoro asTomobuna

@ >0

Pokud jsou v technickém priikazu vozidla uvedené nizsi hodnoty nez zvefejnéné k dokumentaci vyrobku . Jsou tyto hodnoty vjrobce vozu smérodatné pro zapsani do technického priikazu vozidla.

Pokial'st v technickom preukaze vozidla uvedenej nizsie hodnoty nez zverejnené k dokumentacii vyrobku. Su tieto hodnoty vyrobcu vozidla smerodajné pre zapisanie do technického preukazu vozidla.

If tiae veh;lqle‘s certificate of roadworthiness indicates lower values than those published in the product documentation. These values by the vehicle manufacturer are decisive for the entering into the vehicle's certificate of
roadworthiness.

Falls im KFZ-Brief des Fahrzeugs niedrigere, als in der Dokumentation des Produkts verdffentlichte Werte angefiihrt sind, sind diese Werte des Fahrzeugherstellers fiir den Eintrag in den KFZ-Brief des Fahrzeugs maBgebend.

Amennyiben a forgalmi engedélybe jegyzett adatok a gépjarmd dokumentdciéban feltiintetetett adatoktdl alacsonyabb értékiek lennének, igy a gépjarmii gyartoja ltal megadott és a forgalmi engedélybe pontosan bejegyzendd
adatokat kel irdnyaddként mindsiteni.
Si,'sur la carte grise du véhicule, vous trouvez des Valeurs inférieures a celles publiées dans la documentation du produit, le s valeurs du fabricant du véhicule sont déterminantes et devront étre inscrites sur la carte grise du véhicule,

Se nella carta di circolazione del veicolo sono riportati valori inferiori a quelli indicatinella documentazione del prodotto. Questi valori del produttore del veicolo sono decisivi per la registrazione nella carta di circolazione del veicolo.

Als ir: het kentekenbewijs van het voertuig lagere waarden vermeld staan dan gepubliceerd in de productdocumentatie, dan zij n deze waarden van de fabrikant van het voertuig bindend voor inschrijving in het kentekenbewijs van het
‘g?:‘l lIje:%cha técnica del vehiculo se indican valores menores que los publicados en la documentacién del producto, estos valor es facilitados por el fabricante del vehiculo son decisivos para la inscripcion en la ficha técnica del vehiculo.
Jos ajoneuvon rekisteriotteessa on esitetty alempia arvoja kuin tuotteen dokumentaatiossa esitetyt, ovat néma ajoneuvon valmistajan antamat arvot ratkaisevia ajoneuvon rekisteriotteeseen merkitsemista varten.

Om det i fordonets registreringsbevis finns angivna ldgre vérden &n de som &r angivna i produktens dokumentation, dr dessa vérd en fran fordonets tillverkare riktgivande for det som antecknas i fordonets registreringsbevis.

Dersom det i kjoretayets vognkort er oppgitt lavere verdier enn de som er offentliggjort som produktdokumentasjon, er disse angivelsene fra kjaretaysprodusenten retningsgivende for & noteres ned i kjoretayets vognkort.

Jezeli w dowodzie rejestracyjnym pojazdu'sg podane wartosci nizsze od tych, ktdre znajduja Sie w dokumentagji wyrobu, to te dane producenta samochodu s miarodajne do wpisania.ich do dowodu rejestracyjnego pojazdu.

Ecnmn B nacnopte TpaHCnopTHOro CpeCTBa yKasaHbl 6onee HU3Kie 3HaueHMa, yem YKa3aHHble B JOKYMEHTALIN Ha U3/eNne, 3TN 3Ha4eHUA NPOu3BoAUTENs ABNAKTCA ONpeAeNAIoLUMI ANA 3an1c1 B NacnopT TPAHCMOPTHOTO
(peAcTBa.

SVC GROUP ©-4014

0060000000606000

, x \ +420 491421022
547 01 Nachod-CR  e-mail: sve@svegroup.cz b +420 603360607

Primyslova zéna - 179 g cz  Tel:+420 491421021
SVC GROUP s.r y WWW.SVCgroup.cz




Y EHCR-55
ES 94/20

@ Informace k provozu / homologaci

Vyrobek je schvalen dle homologaci EU 94/20 EHK-55 R pro prodej ve statech EU. Pozorné si nastudujte montézni ndvod a véechna doporuceni, déle dodrzujte ptipadna
nafizeni pro provoz jednotlivych stat EU. Vseobecné montazni, homologaéni, provozni pokyny vztahujici se k montazi, registraci a zéruce vyrobku, naleznete na nasem
webu www.svcgroup.cz

Pro rychlejsi pristup k témto informacim si naskenujte, pfilozeny QR kéd.

Soucasti dodéavky tazného zatizeni je dodan TYPOVY LIST. Tento typovy list slouzi pro zapséani vyrobku do technického priikazu vozidla, druhé strana dokumentu obsahuje
zakladni informace a pokyny.

@ Informécie na prevadzku / homoiogéciu

Vyrobok je schvaleny podla homologacii EU 94/20 EHK-55 R pre predaj v $tatoch EU. Pozorne si nastudujte montazny navod a vietky odport¢ania, dalej dodrzujte
pripadné nariadenia pre prevadzku jednotlivych $tatov EU. Vieobecné montazne, homologaéné, prevadzkové pokyny vztahujlce sa na montaz, registraciu a zaruku
vyrobku, ndjdete na naSom webe www.svcgroup.cz.

Pre rychlejsi pristup k tymto informdcidm si naskenuijte pril

re rychlejsi pristu 0 informdcidm si naskenujte priloZen 6d.
Sucastou dodavky tazného zariadenia je dodany TYPOVY LIST. Tento typovy list sluzi na zapisanie vyrobku do technického preukazu vozidla, druha strana dokumentu
obsahuje zékladné informécie a pokyny.

@ Operating / homologation information

The product is approved according to EU 94/20 EHK-55 R homologations for the sale in EU countries. Please read the installation instructions and all the
recommendations carefully and follow the applicable regulations for the operation in individual EU states. General assembly, homologation, operating instructions
related to registration and product warranty are available at our website - www.svcgroup.cz

For a quicker access to this information scan the attached QR code.

Each delivery of the tow bar includes TYPE CERTIFICATE. This type certificate is for registering the product in the vehicle's certificate of roadworthiness, the other side
of the document brings basic information and instructions.

@ Betriebs /Zulassungsinformationen

Das Produkt ist gemaR der Homologation EU 94/20 EHK-55 R fiir den Verkauf in den EU-Ldndern zugelassen. Lesen Sie sorgfaltig die Montageanleitung und alle
Empfehlungen durch, halten Sie ferner etwaige Betriebsverordnungen einzelner EU-Lander ein. Etwaige Montage-, Zulassungs- und Betriebsanweisungen hinsichtlich
der Montage, Anmeldung und Garantie des Produkts finden Sie auf unserer Website www.svcgroup.cz

Etir schnelleren Zugriff auf diese Informationen scannen Sie den anliegenden QR-Code ein.

Lieferungsbestandteil der Zugeinrichtung ist das mitgelieferte TYPENBLATT. Dieses Typenblatt dient zum Eintragen des Produkts in den Fahrzeugbrief des Fahrzeugs,
die andere Seite des Dokuments enthdlt Basisinformationen und Anweisungen.

@ Uzemeltetési / homologacids informaciok

A jelen termék az Eurdpai Parlament és Tanacs 94/20/EK és az Eurdpai Gazdaségi Bizottsdg 55 R szdmu rendelet szerinti homoldgia besorolasok alapjan lett az EU
kozbsségi orszédgokban torténd értékesitések szamara engedélyezve. Figyelmesen olvassa el a beszerelési Gtmutatot és valamennyi javaslatot, illetve az egyes EU
kozosségi orszagok hatalyos vonatkozo kézlekedésrendészeti el6irasait. A beszerelésre, homoldgia besoroldsra; regisztralasra és a garancianyujtasra vonatkozé altalanos
szerelési és lizemeltetési utasitdsok a tarsasagunk honlapjan www.svegroup.cz tekintheték meg.

A gyorsabb hozzdférés érdekében szkennelje be'a mellékelt QR kédot.

A vondszerkezet szallitmany részét képezi a TIPUSLAP is. A csatolt tipuslap az adott termék a gépjarmdiforgalmi engedélyébe valé bejegyzéséhez van rendeltetve,

ésa hétlaﬁ'én Eedig az alaﬁinforméciék és utasitasok vannak feltiintetetve.

@ Informations d'exploitation / homologation

En vertu de I'homologation UE 94/20 ECC-55 R, ce produit a été homologué pour pouvoir étre vendu dans les états de I'Union européenne. Nous vous recommandons
de lire attentivement la notice de montage et toutes les autres recommandations. Il convient également de respecter les éventuels réglements relatifs a I'utilisation
qui sont en vigueur dans les différents états de I'Union européenne. Les consignes générales de montage, les consignes relatives a I’'homologation, les consignes
d’emploi se rapportant au montage, a I'enregistrement et a la garantie qui couvre le produit sont disponibles-sur notre site Internet www.svegroup.cz.

Pour pouvoir accéder plus rapidement a ces informations, nous vous recommandons de scanner le code QR ci-joint.

Le dispositif d'attelage est fourni accompagné d’une FICHE PRODUIT qui vous servira lors de l'enregistrement du produit dans la carte grise du véhicule. Au verso de ce
document, vous trouverez des informations et des consignes importantes.

Informazioni sull'operazione / omologazione

Il prodotto e approvato secondo le omologazioni dell'UE 94/20 EHK-55 R per essere commercializzato nei paesi dell’'UE. Leggere attentamente le istruzioni di montaggio
e tutte le raccomandazioni. Rispettare anche eventuali prescrizioni per I'uso dei singoli paesi dell’'UE. Tutte le istruzioni di montaggio, omologazione e esercizio relative
al montaggio, registrazione e garanzia del prodotto sono da trovare nel nostro sito www.svcgroup.cz

Per un accesso migliore a queste informazioni scannare il codice QR allegato.

Una parte della fornitura del dispositivo di traino & la SCHEDA TIPO: Questa scheda tipo serve a registrare il prodotto nella carta dicircolazione del veicolo; alla seconda
pagina del documento sono riportate informazioni base e istruzioni.

SVC GROUP ©-4014

| x : +420 491421022
547 01 Nachod-CR  e-mail: sve@svegroup.cz o, +420 603360607

Pramyslové zona - 179 : w0 s
SVC GROUP s.r.o. y WWW.SVCgFroup.cz




EHCR-55
ES 94/20

@ Manteringsanvisningar

Het product is goedgekeurd volgens de Europese norm 94/20/EG en UNECE 55R voor verkoop binnen de EU. Gelieve nauwkeurig-de montagehandleiding en
anbevelingen door te nemen en eventuele verordeningen voor het gebruik van afzonderlijke EU-landen in acht te nemen. De algemene montage-, goedkeurings- en
gebruiksinstructies met betrekking tot de montage, registratie en garantie van het product vindt u op onze website www.svcgroup.cz

Scan voor een snellere toegang tot deze informatie de QR-code.

Bij de trekhaak wordt een datablad meegeleverd. Dit datablad dient voor de inschrijving van het product in het kentekenbewijs van de auto; de tweede pagina van het
document bevat basisinformatie en instructies.

@ Instrucciones de montaje

El'producto fue aprobado segtin-las homologaciones de la directiva 94/20/CE del Parlamento Europeo y del Consejo -Reglamento55, relativo a la venta en los paises

de la UE. Lea con atencion el manual de montaje y todas las recomendaciones, respete también instrucciones del Cédigo de Tréfico de los diferentes paises de la UE,

si procede. Las instrucciones generales de montaje, homologacion y funcionamiento que se refieren al montaje, registro y garantia del producto se encuentran en
nuestro web www.svcgroup.cz

Para acceder mds rdpidamente a las informaciones escanee y aplique el c6digo QR.

El suministro del equipo de tiro incluye la FICHA DE TIPO. Esta ficha de tipo sirve para la inscripcion del producto en el documento de la Inspeccion Técnica de Vehiculos,
la segunda péagina del documente contiene informaciones e instrucciones basicas.

@ Montage-instructie

Tuotteella on EU 94/20 EHK-55 R mukainen tyyppihyvéksyntd EU-maissa myyntid varten. Tutustu huolellisesti asennusohjeeseen ja kaikkiin suosituksiin, noudata myos
eri EU-maiden mahdollisia maakohtaisia kdyttoa koskevia asetuksia. Tuotteen asennusta, rekisterdintia ja takuuta koskevat yleiset asennus-, hyvaksynta- ja kdyttoohjeet
16ydat web-sivuiltamme www.svcgroup.cz

Nopeampaa ndiihin tietoihin pddsyd varten skannaa oheinen QR-koodi.

Vetolaitteen mukana toimitetaan TYYPPIHYVAKSYNTATODISTUS. Tuote voidaan merkitd ajoneuvon rekisteriotteeseen taman tyyppihyvaksyntatodistuksen mukaisesti,
dokumentin toisella sivulla on perustietoja ja ohjeita.

@ Asennusohjeet

Produkten &r godkand enligt homologiseringen EU 94/20 EHK-55 R for forséljning inom staterna i EU, Lds noggrant igenom monteringsanvisningarna och alla
rekommendationer, folj dven enskilda EU-staters eventuella bestammelser for drift. De allmanna monterings-, homologiserings- och driftsanvisningarna gallande
produktens montage, registrering och drift hittar du pa var webbsida www.svcgroup.cz

Eér snabbare dtkomst till den informationen skanna den medféljande QR-koden.

En del av draganordningens leverans ar TYPBLADET. Detta typblad tjanar till for inskrivning av produkten i fordonets registreringsbevis, dokumentets andra sida
innehaller grundldaggande information och instruktioner.

@ Drifts- / homologasjcnsinformasjon

Produktet er godkjent i hht. EU-homologering 94/20 EHK-55 R for salg i EU-land. Les ngye gjennom monteringsanvisningen og alt av anbefalinger, og overhold dessuten
evt. retningslinjer som matte gjelde i de enkelte EU-landene. Generell veiledning ang. montering, homologering, samt drift som gjelder produktets montering,
registrering og garanti, finner du pa vart nettsted www.svcgroup.cz

Skann den vedlagte QR-koden for raskere tilgang til denne informasjonen

TYPEBLAD folger med leveransen av trekkutstyret. Dette typebladet brukes til & registrere produktet i bilens vognkort, mens dokumentets 2. side inneholder grunnlegg
ende‘informasjon og veiledning.

@ Informacje dotyczace pracy / homologacji

Wyréb jest zatwierdzony zgodnie z homologacjg WE 94/20 EHK-55 R do sprzedazy w krajach WE. Prosimy uwaznie przeczytac instrukcje montazu i wszystkie zalecenia,
a nastepnie przestrzegac¢ ewentualnych rozporzadzen obowiazujacych w zakresie uzytkowania w poszczegélnych krajach WE. Ogdlne zalecenia i informacje dotyczace
montazu, homologadji, zalecer eksploatacyjnych, rejestracji i gwarancji na wyréb, znajduja sie na naszej stronie internetowej: www.svcgroup.cz

Aby uzyskac szybszy dostep do tych informacji, prosimy zeskanowac zatgczony kod QR.

Czescig dostawy tego urzadzenia sprzegajacego jest zawarta w komplecie KARTA PRODUKTU. Ta karta stuzy do wpisania wyrobu do dowodu rejestracyjnego pojazdu,
a druga strona dokumentu zawiera-podstawowe informacje i zalecenia.

I

Nudopmauna o pabote /omonoraumu

Ha nspgenve BbipaH ceptudukat kauectsa cornacHo EU 94/20 EHK-55 R ana npofaxu B rocygapctsax EC. BHUMaTenbHO 13yunTe MHCTPYKLMIO MO MOHTaXy 1 BCe
peKoMeHAaLMK, a Tak»Ke cobntofaiiTe NOCTAHOBEHMA NO KCMNyaTauun oTAeNbHbIX cTpaH EC. O6Lme yKasaHvs Mo MOHTaxy, cepTuduKaLym v SKkcnayatayuy,
OTHOCALLMECA K MOHTaXYy, PErMcTpaLny U rapaHTUv Ha N3Aenre MOXKHO HaiTV Ha Hallem caiiTe WWW.svVCgroup.cz

[nsa 6bicmpozo docmyna k 3mou uHgopmayuu omckaHupytime npunazaempiti QR-k00.

B KOMMneKT nocTasku dpapkona sxoant TUMOBOW JINCT. STOT TMNOBOW AMCT CAYKWUT ANA 3aN1CK N3AEMVA B NacrnopT TPaHCMOPTHOrO CPeACTBa, BTOpas CTOpoHa
L[OKYMEHTA COAEPKNT OCHOBHYIO-MHbOPMALIMIO U YKa3aHus.

SVC GROUP ©-4014

Pramyslova zéna - 179 : 2 Tel:+420 491421021
SVC GROUP s.r.o0. y WWW.SVCgroup.cz

: v : +420 491421022
547 01 Nachod-CR  e-mail: sve@svegroup.cz o, +420 603360607




HYUNDAITUCSON J07/2018 -

KIA SPORTAGE (=1 (8/2018 -

(cz) Montéazni navod

1. Odmontujete zadni svétla, naraznik'i s jeho vyztuhou a plastové krytky z obou stran (Pozor na elektro pfipojky).!

2. Vymontujte z ndrazniku plastovou vyztuhu i s elektroinstalaci:Odmontujte kovové pfichycenivyztuhy ke karoserii vozidla.
Namontujte dodané prichytky dle obrazku stavajicimi maticemi M8.

3. Kia Sportage: (odmontujte spodni stfedovy pfichyt narazniku, odfiznéte plastovy dil ndrazniku a dvéma Srouby M8 x 25 s velkoplodnymi
podlozkami prichytte zpét plastové pasky drzici vrchni dil nérazniku.)
Namontujte plastovou vyztuhu zpét do narazniku i s elektrickou instalaci. Dbejte na vyrovnani drzakd.

4. Odzadu vsurite tazné zafizeni do nosnikd a prichytte k tchytnym bod(im 4 srouby M12x35 (10.9) s velkoplosnymi podlozkami.
Poté tazné zafizeni vyrovnejte a dotahnéte dle utahovacich momentu.

5. Namontujte zpét zadni naraznik i s jeho vyztuhou stavajicim Gchytnym materidlem. Dbejte na vyrovnani narazniku.
Poté vratte zpét viechny dily odmontované v bodé ¢.1

6. Vratte zpét vechny dily odmontované v bodé ¢.1 (Zapojte elektrickou instalaci narazniku).

(EN) Installation instructions

Remove rear lights, bumper and its stiffener and plastic covers from both sides (be careful not to damage electrical connectors!)
Remove plastic stiffener from the bumper together with its cable harness. Remove metal attachment of the stiffener to car body.
Mount the supplied holding clamps according to picture, use the former M8 nuts.
3. Kia Sportage:(remove centre lower attachment of the bumper, cut of the plastic part of the bumper and using two M8 x 25 screws with
large-area washers attach the plastic stripes holding upper part of the bumper.)Reinstall the plastic stiffener back to the bumper together
with its cable harness. Mind the alignment of holders.
4. From behind, insert the tow bar into the beams and affix it using of four M12x35 screws (10.9) through large-area washersto attachment points.
Then, align all the parts of the tow bar and tighten them to prescribed torques.
Reinstall the rear bumper with its stiffener, use former fasteners. Mind the bumper alignment. Then reinstall all the parts removed within the step 1.
6. Reinstall all the parts removed within the step 1 (Connect the cable harness in the bumper).

N —

n

Montazny navod

1. Odmontujete zadné svetld, naraznik aj s jeho vystuhou a plastové krytky z oboch stran (Pozorna-€lektro pripojky).!

2. Vymontujte z ndraznika plastovu vystuhu aj s elektroinstalaciou. Odmontujte kovové

prichytenie vystuhy ku karosérii vozidla. Namontujte dodané prichytky podla obrazka existujicimi maticami M8.

3. Kia Sportage: (odmontujte spodnu stredovu prichytku néraznika, odrezte plastovy diel naraznika a dvoma skrutkami M8 x 25 s velkoplosnymi podlozkami
prichytte spéat plastové pasky drziace vrchny diel naraznika.) Namontujte plastovu vystuhu spét do naraznika aj s elektrickou instalaciou.
Dbajte na vyrovnanie drziakov.

4. Odzadu vsunte tazné zariadenie do nosnikov a prichytte k ichytnym bodom 4 skrutkami M12 x 35 (10.9) s velkoplosnymi podlozkami.
Potom tazné zariadenie vyrovnajte a dotiahnite podla utahovacich momentov.

5. Namontujte spét zadny nédraznik aj s jeho vystuhou existujicim uchytnym materidlom. Dbajte na vyrovnanie naraznika.

Potom vratte spét vietky diely odmontované v bode ¢. 1
6. Vratte spat vietky diely odmontované v bode ¢. 1 (Zapojte elektricku instalaciu naraznika).

I

I

Montageanleitung

1. Die Hecklichter, StoBstange samt Strebe und Kunststoffkappen von beiden Seiten ausbauen (Achtung auf die Stromanschliisse)!
2. Von der StoB3stange die Kunststoffstrebe samt Elektroinstallation ausbauen. Die Metallbefestigung der Strebe an der Fahrzeugkarosserie ausbauen.
Die mitgelieferten Befestigungen gem. Abbildung mit den vorhandenen Muttern M8 montieren.

3. KiaSportage:(die untere mittige Sto3stangenbefestigung ausbauen, das Kunststoffbauteil der StoBstange abschneiden und mitzwei Schrauben M8 x 25 mit
groB3flachigen U-Scheiben die Kunststoffstreifen, die den oberen Teil der Stostange halten; befestigen.)Die Kunststoffstrebe samt Elektroinstallation erneut
in die Stof3stange montieren. Auf die Ausrichtung der Halter achten.

4. Die Zugeinrichtung von hinten in die Trager einschieben und an den Befestigungspunkten mit 4 Schrauben M12x35 (10.9) mit groflachigen U-Scheiben befestigen.
Die Zugeinrichtung anschlieend ausrichten und mit den entsprechenden Momenten festziehen.

5. Die Hecksto3stange samt Strebe mit dem vorhandenen Befestigungsmaterial wieder einbauen. Auf die Ausrichtung der Stof3stange achten.

Anschlieend alle im Punkt Nr. 1 ausgebauten Teile wieder einbauen.
6. Alle im Punkt Nr. 1 ausgebauten Teile wieder einbauen (Die elektrische Installation der Stof3stange anschlieB3en).

@ Instrukcja montazu

Demontujemy tylne lampy, zderzak razem z jego wzmocnieniem i plastikowe zaslepki z obu stron (uwaga na potaczenia elektryczne)!

Ze zderzaka demontujemy plastikowe wzmocnienie z przewodami instalacji elektrycznej. Demontujemy metalowe mocowanie wzmocnienia do nadwozia pojazdu.

Dostarczone uchwyty montujemy zgodnie z rysunkiem za pomoca istniejacych nakretek M8.

3. Kia Sportage:(demontujemy dolne, srodkowe mocowanie zderzaka, odcinamy plastikowa czes¢ zderzaka i dwiema srubami M8 x 25z wielkopowierzchniowymi
podktadkami mocujemy z powrotem plastikowe tasmy przytrzymujace gérng czes¢ zderzaka.) Plastikowe wzmocnienie montujemy z powrotem do zderzaka i
wktadamy przewody instalacji elektrycznej. Zwracamy uwage na wypoziomowanie uchwytow.

4. Hak holowniczy wktadamy od tytu do belek i przymocowujemy do punktéw mocowania 4 srubami M12x35 (10.9) z podktadkami wielkopowierzchniowymi.

Potem ustawiamy zespot haka holowniczego i dokrecamy Sruby z zachowaniem zalecanych momentéw dokrecania.
5.. (Montujemy z powrotem tylny zderzak i jego wzmocnienie z wykorzystaniem istniejacego materiatu ztagcznego. Pamigtamy o wypoziomowaniu zderzaka.
Potem przywracamy na swoje miejsce wszystkie czesci zdemontowane zgodnie z punktem nr 1.
6. Przywracamy na swoje miejsce wszystkie cze$ci zdemontowane zgodnie z punktem nr 1 (podtaczamy instalacje elektryczna zderzaka).
SVC GROUP ©-4014

N —

Primyslova z6na - 179 2 : Tel.+420 491421021
SVC GROUP s.r.o. y WWW.SVCgroup.cz

, . | +420 491421022
547 01 Nachod-CR  e-mail: sve@svegroup.cz \oh.. +420 603360607




HYUNDAITUCSON J07/2018 -
KIA SPORTAGE (=108/2018 -

4.

5.

6.

Notice de montage

Démonter les feux arriére, le pare-chocs arriére et son renfort, ainsi que les bouchons en plastiques situés des deux.cotés

(Faire attention aux raccords électriques) !

Démonter le renfort en plastique du pare-chocs, Démonter également l'installation électrique. Démonter les attaches métalliques

qui fixent le renfort sur la carrosserie du véhicule. Installer les attaches qui vous ont été fournies (procéder comme indiqué sur la figure)

et les fixer avec les écrous M8 existants.

Kia Sportage : (démonter I'attache centrale inférieure du pare-chocs, découper la piéce en plastique du pare-chocs et utiliser deux vis M8 x 25
munies de rondelles extralarges pour refixer les bandes en plastique qui maintiennent la partie supérieure du pare-chocs). Réinstaller le renfort
en plastique et l'installation électrique sur le pare-chocs. Veiller a bien aligner les supports.

Par I'arriere, insérer le dispositif d'attelage dans les traverses et le fixer aux points d'attache a I'aide de 4 vis M12x35 (10:9) munies derondelles
extralarges. Aligner ensuite le dispositif d'attelage et serrer les vis et les écrous aux couples de serrage prescrits.

Remettre le pare-chocs arriere et son renfort en place‘et les fixer avec les matériaux d’assemblage existants. Veiller a bien aligner le pare- chocs.
Remettre ensuite en place toutes les piéces qui ont été démontées au point 1

Remettre en place toutes les pieces qui ont été démontées au point 1 (raccorder l'installation électrique du pare-chocs).

Manual de montaje

I

—_

Desmonte los focos traseros, €l parachoques con su refuerzo'y los casquillos plasticos:de los dos lados (jCuidado con las conexiones eléctricas!)
Desmonte del parachoques del refuerzo plastico conla instalacion eléctrica. Desmonte las zapatas metélicas del refuerzo en la carroceria
del vehiculo. Monte las zapatas suministradas segun la figura con las existentes tuercas M8.
Kia Sportage: (desmonte la zapata central inferior del parachoques, corte la pieza plastica del parachoques y con dos tornillos M8 x 25 con
arandelas grandes sujete de vuelta las cintas plasticas que soportan la parte superior del parachoques.)Monte el refuerzo plastico de vuelta
en el parachoques junto con la instalacion eléctrica. Tenga cuidado que los soportes queden enderezados.
Por atrds inserte el equipo de tiro en los soportes y sujete con los puntos de sujecién con 4 tornillos M12x35 (10.9) con arandelas grandes.
Después enderece el equipo de tiro y apriete seguin Los paresde apriete.
Monte de vuelta el parachoques trasero con su refuerzo.usando el existente material de union.
Tenga cuidado que el parachoques quede enderezado. Después instale de vuelta'todas las piezas desmontadas en el punto No. 1
Instale de vuelta todas las piezas desmontadas en el punto No. 1 (Conecte la instalacion eléctrica del parachoques).

Q@ Asennusohje

_

Irrota takavalot, puskuri ja sen jaykiste ja muovisuojat molemmilta puolilta (varo sahkaliittimia)!

Irrota puskurista muovijdykiste ja séhkdasennukset. Irrota jaykisteen auton koriin liittavat metallikiinnikkeet. Asenna toimitukseen kuuluvat
kiinnikkeet kuvan mukaisesti nykyisilla muttereilla M8.

Kia Sportage: (Irrota puskurin alempi keskikiinnike, leikkaa puskurin muoviosa irti ja kiinnitd puskurin yldosaa pitdvat muovinauhat takaisin
paikalleen kahdella ruuvilla M8 x 25 suuria aluslevyja kayttdaen.)Asenna muovijdykiste ja sahkdasennukset takaisin puskuriin. Varmista, etta
pidikkeet ovat suorassa asennossa.

Tyonnad vetolaite takaapdin palkkeihin ja kiinnita se kiinnityspisteisiin 4 ruuvilla M12x35 (10.9) suuria aluslevyjd kdyttden. Suorista sitten vetolaite
ja kirista se kiristysmomenttien mukaisesti.

Asenna takapuskuri ja sen jaykiste takaisin nykyisella kiinnitysmateriaalilla. Varmista, ettd puskuri on suorassa asennossa. Palauta sitten kaikki
kohdassa 1 irrotetut osat takaisin paikalleen.

Palauta kaikki kohdassa 1 irrotetut osat takaisin paikalleen (liitd puskurin sdhkdasennukset).

UHCTPYKLKA MO MOHTaXY

I

—_

CHUMUTE 3afHre poHapK, bammep BMeCTe € ero yCUnuTenem 1 niacTMKoBble KPbILLKK C06erx CTOPOH (OCTOPOXHO € 31eKTPONPOBOAKON).
CHuMUTE ¢ 6amnepa NNacTUKOBbIV YCUINTENb BMECTE € S11eKTPONPOBOAKOIA. . CHUMUTE MeTanNMueckoe KpernyieHrie yCUnuTens K Ky3oBy aBTOMOOUNA.
3aKkpenuTe NpuiaraemMble 3aXVMbl C MOMOLLbIO LWanb M8 (cm. n3obpaxeHue).

Kia Sportage:(CHUMMTE HUXKHUI LLEeHTPasbHbIN 3aXXMM 6amnepa, OTPeXbTe NNacTUKOBYIO YacTb 6ammepa, 1 C ToMoLLbio ABYX 6onTo M8 x 25

C yBeNMYeHHbIMY Waibamu 3aKpenuTe 06paTHO NIACcTMKOBbIE PeMeLLKM, MOAAEPXKIMBalOLLME BEPXHIOIO YacTb 6amnepa).YcTaHOBUTe MNacTUKOBbIN
ycunuTesib 06paTHO Ha 6ammnep BMECTE C 3NIEKTPONPOBOAKOI. BbIpoBHANTe aepxaTtenu.

C3aam BcTaBbTe dapKon B 6anKku 1 3aKpenuTe B TOUKax KpenaeHusa ¢ nomoLlbio 4 6oatos M12x35 (10.9) ¢ yBennyeHHbIMM Wainbamu.

BblpoBHAlTe dpapKon v 3aTAHUTE B COOTBETCTBUM C NPEANMCAHHBIMA MOMEHTaMU 3aTAXKKM.

YcTaHOBUTE 06PATHO 3afHMI Gammep BMeCTe C ero yCUANTENEM C MOMOLLbIO MMEIOLLNXCA KPenexHbIX MaTepurasnos.

He 3abynbTe BbIpOBHATL 6amriep. BepHuTe Ha MecTo BCe YacTy, AeMOHTMPOBAHHbIe COTNIAaCHO MYHKTY 1.

BepHuTe Ha MeCTO Bce YacTu, LEMOHTMPOBaHHbIe corfiacHo NyHKTy 1 (Mogknounte sneKTponpoBoaKy 6amnepa).

SVC GROUP ©-4014

Primyslova zona - 179 : cz  Tel:+420 491421021
SVC GROUP s.r.o. y WW W.SVCgroup.cz

h . . +420 491421022
547 01 Nachod-CR  e-mail: sve@svegroup.cz ,oh. 420 603360607




SVC GROUP ©-4014

SVC GROUP S.I.0. Prumyslova zéna - 179 WWW.SVCgroup.cz TeI.:If{%g j;’}j%}g%;

547 01 Nachod-CR  e-mail: sve@svegroup.cz mop. +450 603360607




@\

\\\\',,""'.""

2

0
2

{ D

\

K
§E==

i
S
W

JIIIIqu\.m“\\mV

R\\\‘
e 4

S
— G
l‘/

.
g .
= —

=2

HYUNDAI
TUCSON

Tel.:+420 491421021
+420 491421022

SVC GROUP ©-4014
Primyslova zéna - 179 www.svcgroup.cz
e-mail: svc@svegroup.cz mob.: +420 603360607

SVC GROUP s.r.o.

547 01 Nachod-CR




KIA
SPORTAGE

G

% M12x35 x4
S 2124
Y o124

\ ‘ Y
@@/ «‘»\

e s A

SVC GROUP ©-4014

SVC GROUP S.I.O. Prumyslova zona - 179 WWW.SVCgroup.cz Tel.:ijgg 38}3%}8%

547 01 Nachod-CR  e-mail: sve@svegroup.cz 1o +420 603360607




SVC GROUP ©-4014

SVC GROUP s.r.0. Frmyslovazéna 179 www.svegroup.cz  Tei:1133 4813103}

547 01 Nachod-CR  e-mail: sve@svegroup.cz mop.. +420 603360507




¥

‘
\-\.\_ ::--'-fili""-

Can-Bus Autopfiipojka

Vypinac pro couvacisenzory PDC je umistnén na palubni desce vozu,
nemusi se tedy v zavazadlovém prostoru sloZité odpojovat

a propojovat elekrto instalace vozu a autozasuvky

SVCGROUP, s.r.0._

Dékuje za dlivéru / Dakuje za doveru Registrace / Registracia

Thank you for your trust / Danke Fiir dein Vertrauen Registration / Registrierung

Merci pour votre confiance / Grazie per la tua fiducia Inscription / Registrazione

Tankewol foar jo fertrouwen / Cnacn6o 3a Balue foBepue Rekisterdinti / Peructpaums
SVC GROUP ©-4014

SVC GROUP s.r.o, "umsiovazona 179 www.svegroup.cz  T:1433 43143183)

547 01 Nachod-CR  e-mail: sve@svegroup.cz 01, . +420 603360607




Nevite si rady? Potfebujete poradit?

Nas zakaznicky servis
je vam k dispozici

%, +420491 421021

g Svc@svcgroup.cz

Opravdovy specialista a Certifikovany vyrobce taznych zafizeni
s nejvétsim sortimentem v CR. Rodinna firma s vice jak 30letou
ovérenou tradici vyroby, prodeje a montaze.

WWW.SVCgroup.cz



